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1. 1857 =51 33EM™ @At ST ATkt HI0 el 2 7
(1) W wi2a el wish - '

2y &t g mr=n s T

(3) WS EHIH W T2 el el SAIHH
(4) FISTH THT

What, from the following, was the immediate cause of the Revolt of 1857

(1) Hanging of Mangal Pande

(2} The quarrel between Indian and British Soldiers
(3) The insult of Mangal Pande by Major Hyuson
(4) Cartridge episade

(1) QUi SehfeeR it aefren T ugata Feames
(2) YorTH) stfeereTen T avifacaes

(3) Hege AU HE™ HTedHb

(4) TEsdIer S TR

The tirst conference of Indian National Congress was shifted from Pune to Mumb.ai

hecause

(1) Due to the outbreak of viral discases

{2} Due to the opposition of the people of Pune

{3) Due to the international importance of Mumbai

(4) Due to the demand of the people of Mumbai

3. TTEER FIR R a1 A TG T FAET §6 AR F o e
(1) WRHY-IHFS FHTES
(2) TG dpgtares T
(3) =ae I
(4) 1935 91 YA FUN FHIIET
Separate Electorate was formed for the untouchables as a result of
(1} Montague-Chemsford Act
(2) Ramsay Macdonald Communal Award
(3) Wavel plan
(4) Indian Act of 1935

el HTHTATST ST/ SPACE FOR ROUGH WORK
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4. TRAT YgehR FZFearal FisT shiored] sl e g ¢
(1) 1904 (Z) 1947 (3) 1969 (4) 1980
tn which vear Co-operative Movement in India was started ?
(I) 1904 (2) 1947 (3) 1969 (1) 1980

5. i T Al (A1) TRl uiteE FE e 7
(1) (2) erms (3) faeett (4) &M
Where was the first Conference of Non-Alignment Movement (NAM) held ?
(1) Kairo (2) Belgred (3) Dclhi (4) Harare

6. T fitem Georeh T o Heh) 7
(1) 2. ISeme 29E
(2) FHER IR vrd
(3) B WTE TN
(4) =g A=
Who has established "Rayat Shikshan Sanstha”™ ?
(1) Dr. Punjabrao Deshmukh
(2) Karmaveer Bhaurao Patil
(3) Chh. Shahu Maharaj
(1) Bapuj Salunkhe

7. WETCH Fel AT HivTe T Reagdaren WiEEm WUy Seoid hell S 7
(1) adafe e (2) ST A
(3) I = (1) FTEUTH FHa
Which book of Mahatma Phule recognised as a “Manifesto of Universal Family” ?
{1} Sarvajanik Satyadharma {2) Shetkaryacha Asood
{3} Trutity Ratna {(#) Brahmanache Kasab

8 ’HRW_'IIHI%IMIN%HM_I‘Hml_ﬂiﬁﬂ% FIGRTaTa 20 =1 IIAhHiIel ISR e 3Tt Teu Hone SAeEs S ?

(1) =@, &« e (2) AU} TG HERTH

(3) dfga =T (4) . 7. AT

Who recognised as a pioncer of social revolutionary in the social history of
Maharashtra in the 20" century ?

(1} V.R.Shinde (2) Chha. Shahu Maharaj
{3) Pandita Ramabai (1) G.G.Agarkar

o] HTHTHTST ATTT/SPACE FOR ROUGH WORK
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(1) FETe Bl
(2) e wmesft wfea

(3) W foge wsl e

(1) dedf g FuE #d

Who started “Muruli Pratibandhak Movement” ?
{1) Mahatma Phule

{2y Vishnu Shastri Pandit

(3) Karmaveer Vitthal Ramji Shinde

(1) Maharshi Dhondo Keshav Karve

10. IR [RTHTH T GHTSI FI AT HIeAl 7
(1) =1, T (2) . SATHRE TG
(3) IS WETSH (1) Bi. STIERHT
Who took initiatives to establish Prarthana Sama) ?
(1) Justice Ranade (2) Dr. Atmaram Pandurang
(3) Bhau Mahajan (4} Dr. Bhandarkar
11, guRs’ gHvE FHIof gE ol 7
(1) 7T & Zenge (2) TITES TIOIST IR
(3) S frEE (1) 7. ST
Who started a newspaper called ‘Sudharak’?
(1) Gopal Hari Deshmukh (2} Gopal Ganesh Agarkar
(3) Lokmanya Tilak (1) Dr. Punjabrac Deshmukh
12. SIS GHSTE TTIE] Hivf el ?

(1) forzs Tosh foe

(2) TETH Al Gl

(3) BIYAI MR HEN

(1) T g v

Who is the founder of Satyashodhak Samaj ?
(1) Vitthal Ramji Shinde

(2) Mahatma Jyotiba Phule

(3) Chhatrapati Shahu Maharaj

(1) Maharshi Dhondo Keshav Karve

T FTHTATE! ATTT/SPACE FOR ROUGH WORK
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13.  vgtaid wikamges 71 gyl T et e,
(1) ger (2) wm (3) et (1) e
lake is created by indogenic process of the earth.
(1) Wooler (2) Lonar (3} Koleru (1) Chilka
14. FATE T % e R TR
(1) TEfmER (2) e
(3) HEHET (4) merhm
is a highest peak in Satpuda Mountain.
(1) Gurushikhar (2) Dhupgad
{3) Kalsubai (1) Malayagiri
15. TEEI=A1 RIS SEaEi 5a TEF T AR,
(1) =9rafid (2) IS
(3) Sietar (4) IeThy A
Most of the region of Deccan Plateau is made up of _ rock.
(1) Metamorphic (2) Igncous
(3) Sedimentary (1) None of the above
16. TERSI Rald S STe @R feg SR, o
(1) @m@w (2) HIETR
(3) g (4) TRFHIE
_district in Maharashtra has the largest forest cover.
(1) Satara (2) Kolhapur
(3) Aurangabad (4) Gadchiroli
17. SF%aT=a1 G54 HERTSIIET AT FHTH AT
(1) dfgen 2) fomo (3) g&u (4) TTEEl
According to arca, Maharashtra has the position in India.
(1) First (2) Third (3) Second (4y Fifth

18. T & 3 & Tfeeh e v a9 G A 7

(1) 1860 (2) 1853 (3) 18577 {(4) 1835
In which year the first railway line was started from Mumbai to Thane ?

(1) 1860 (2) 1853 (3) 1857 (4) 1835

&oodT hIHTHTS! AT /SPACE FOR ROUGH WORK
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19. TR 2010 T UHT 399 AECEE ATfedeEn st sfor gftss
w Frre e, 3 I=u ST wivR 7

(1) AT I <AHH (2) whHelshe oo <A
(3) UEE 3Ivd ARTAL (4) feeet 3= =R

In January 2010 a High court has delivered a decision regarding R. T. I Act and
members of the higher judiciary. Name the high court.

{1} Bombay High Court (2) Caleutta High Court
(3) Madras High Court (4) Delhi High Court

20. Wil HERE ECTeA Fata e wuf H 7
(1) »7st |ffa (2) TEw= fevia afif
(3) S wiHid (4) < 3uHH Fif
Which one of the following is the largest Committee of the Indian Parliament ™
(1 Committee of Petition (2) Public Account Committee
(3) The Estimates Committee (4) Committec on Public Undertaking

21, i Wiq YR=FEIE TR S g e qe g ?
(1) AL 1947 (2) S 1948
(3) fedam 1948 (4) T 1953
When had Dar Commission been appointed for reorganisation of lingmsi

provinces

(1) August 1947 (2) Junc 1948
(3) December 1948 (1) December 1953
22, I wlagHH N

(1) T A foet

(2) el T fa

(3) AT e TE aEEE el A

(4) g AR foed

The Constitution of India

(1) Provides single citizenship

(2) Provides double citizenship

(3) Contains no provisions regarding citizenship

(4) Provides multiple citizenship

&oed] HIHRET FAWTT/SPACE FOR ROUGH WORK
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23.

(1) die et

(2) amidde a7

(3) FEE 9 goaaed
(4) R o
The President of India according to Article 76 appoints Attorney General. He gives
advice to the government on which matters ?

{1) Technical matters

(2) Economic matters

{3) Matters related to law and order
(1) Legal mattors

24.

YA Fev [ e e s ft saf FIveel e g 6 @ fhd weE an ffrbes
qEw Tev g A0 duTsRnE 3 ¢

(1) WA (2) FEay (3) W w@Ee (1) W AR

Within which period is it mandatory for the Chief Minister to become the legislator

if he/she is not onc at the time of assuming office 2

(1) Onc month (2) Six years {3) Sixwecks (4) Six months

(7 17 2) 6- 18 (3) 5- 17 ) 7 16

The minimum and maximum members elected to Gram Panchyat. Choose the
right option,

1) 7-17 (2) 618 @) 5 17 (4 716

26.

Tt Trfior Teme gl AT (. TR, €. At wm ) wrelier 3 g e sl g gate Rae,
(1) 20086 (2) 2004 {3) 2007 (1) 2001

National Rural Employment Guarantee Scheme (N.R.E.G.S.) was launched in the
following year. Choose the correct option.

(1) 2006 (2) 2004 (3) 2007 (1) 2001
27. vaEas an ged ffifdm e e g 1 3R,

(1) v frma (2) FEHA

(3) FOIEF (4) T T

The goal behind the establishment of Panchayatraj Institute is

(1) Urban Development (2) Tax collection

(3) Entertainment (4} Rural Development

e HIUTETS! AT /SPACE FOR ROUGH WORK
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28. HERTLTA = B gyt fag w3 88 ?
(1) vegd wivd=n faifaa gzemys
(2) TS SFRERT Weg et Fetea
(3) TRTTS T ] S MY
(1) TTdIeT HEehll HEenHeA

How i1s the President of Panchayat Sammittee elected in Maharashtra *

(1) Among the elected members of Panchayat Sammittee
(2) Dircet election through the people of the block

(3} Among the Sarpanchas of Gram Panchayats of the block
(4) Among the Co-operative Societies in the block

29. wrefier sk TR
1. e Heue T e S fere T st
I1. fermes) wdm S e sgdi ffvead Fen S,
1. wde vz feame) s1riaa s @ A,
(1) 1, L1 1T — & =0 o
(2) 1,11 SR 1] 9% 312
(3) I, I TR T 1L FF e
() T,11 111 — 54 & 37
Consider the following :
I. In the Panchayati institutes one third seats reserved for the women.
[I. The reservation for women is alloted by rotation to different constitueniies.
II1. The post of Sarpanch is not rescrved for the women.
(1y I, 1I, III - All are correct
(2) Tand Il are correct, I11 18 1ncorrect
(3} T andIIl are correct, Il 1s incorrect
(4) I,IL IIT All are incorrect

30, ooy aRw=an SemHATE T F 01 vl 7
(1) . 9. =78 2) 9. 9. 37y wefE sfed
(3) 1. u. =g FEET AfesT (4) ToeeritmT
Who is the Chief of Zilla Parishad Administration ?
(1) President of Z. P, {2) Deputy CEQ of Z. P.
(3y CEQofZ. P. 4y District collector

Fool HIHTETS JNTT/SPACE FOR ROUGH WORK
| K AR
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31. YIRAWE Y9m ST0EH Sl ohg 1969 FTedl Wielted faspmoft 39l 7
(1) g3 (2) TR (3) FeuUTFEA (1) et
The first atomic power station was sct up in 1969 in India at
(1) Mumbai (2) Tarapore (3) Kalpakkam () Pillani

32. &I I8 mwa"‘mw%ga R s (feeadimr) foamaofen @id T8,
(1) fctya feremaf (2) otfaamaie B

(3) IR Fepy omerel! faamaft () aefowg fammeafi
Deductive thinking in a striet seientific sense means
(1) Abstract thinking {2y Irrational thinking

(3) Downward inference (1) Mogical thinking

33, IEEAR ITH TEVS 0T <F I e e ?
(1) wifaes=Tra 9 B&H /07 HUT I
(2) THEAITE F GEN K01 601 I
(3) Sawmes 9 Yaw w1 F01 I
(4) THT TR TR
Biosensor technology couples the knowledge of
(1) Physics with microelectronics
(2) Chemistry with microclectronies
(3 Biology with microelectronics
(1) None of these

34, 3.4, wrefiats Foe sEgaEa Hermrd arE ¢
(1) g 2) e (3) & @) $pH

K.C.G. 15 used for diagnosis of the following organ
{1) Brain (2) Kidneys (3} Heart (4) Lungs

35. WS St S =AT PR T SRRt X v womeE s e T
(1) s (2) HermaEh
(3) areEf (1) S
Which effective drug is used in the poor undeveloped countries for eradication of
parasitic disease malaria ?
(1) quinacrine (2) pentamidine

(3) piperazine (1) primaquine

FHeodl RITTATSt AUTT/SPACE FOR ROUGH WORK
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36. R de TEA fagd dan weAndl amen= gEgraEl i s we
(1) wmfi (2) FohlE (3) 39T (1) T wEd CH,¢
For the production of clectricity from fuel cell using hydrogen, produces from whis
(1Y Water {2y Alcohol (3) Ethanol (4) CH,0 (Organmie matic
37. TTA el FUEH B 1 SffarEETE EEeE .
(1) (2) & (3) % (1) 2
In plant a Beta carotene 1s a precursor of Vitamin
{1y A 2y B (3) C (4 D

38, guRdmE TSt v WA S A S a9

(1) =1 Er (2) aTed

(3) TE TR (4) I B

In the ascending lift in a building, the weight of a person will
(1) deercase (2) increasc

(3) remain the same (1) become zero

39. TR TEOS! FocAT URRAT HIetell Tee ¢
(1) =l TS ST TS
(2) SPrnfies T FH aneEe
(3) woETREa SIftRdEs
(1) IO UFE AR

Modernisation deals with social changes from

(1) Agrarian societies to industrial one
(2) Industral socitics to agrarian

(3) Stability to unstahlity

(1y None of these

40, i e ey, Do aref gy, gt P amf st smar e wwen asfaern
AP Y TEUTS
(1) T AT 3 o T
(2) WfeeTites vew™ WM
(3) TR F 310 FeT T ST 0]
(1) TRl ol et
The problems like the provision of health care, physical infrastructure ~afe
drinking water and food can be solved by

(1) Lack of knowledge and old technology

(2) Knowledge of historical events

(3) Scientific knowledge and adopting new technology
(4) None of these

WWW/SPACE FOR ROUGH WORK
P.T.
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41, Tohel} iEre ST S HaaeAT TS FEHT SiEtdun A vkl ?

(1) 100+ == (2) 110 & =R

(3) 140 fl. wm (4) 160 A& =M ;R

What is the range of permanent deafness due to exposure to noise ?
(1) Above 100 dB (2) Above 110 dI3

(3) Above 140 dB (4) Above 160 d13

42. ATETH AP, TR Weftered] o O et 7
(1) st SFagEER e Sefaem
(2) HaT o
(3) &=t SEEm
(4) IfTEs Srgor
Out of the following which is the major environment impact of transportation
projects ?
(1) Land degradation and deforestation
(2) Soilerosion
(3) Sound pollution
(4) Thermal pollution

43. W%ﬂmamﬁuﬁmm 7
(1) TofgH - 3. 9. giwgd (2) fagd fean - wfeem
(3) TeaHt - Waw S (1) T - e e,
Which of the following pairs of scientific invetions and their inventors is not correct ?
(1) Electron -dJ. J. Thomson {2) Electric bulb - Edison
(3) Telephone - Graham Bell {4) Computer - Bill Gates

44. IO G I A SWOTA AT U
(1) TS (2) srTdid
(3) a1y (1) fd Srerg
A body travelling with a spced exceeding the speed of sound is called
(1) Supersonic {2) Ultrasonic
(3) Infrasonic (4) Supcrfast

THEogT HTATATA ANTT/SPACE FOR ROUGH WORK
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45. TR FIRTE AT A s s
(1) =1 Toefien 9 Yol s Beareui= S
(2) o= el ar Jehl dEgTTe BdTatY]
(3) ARG HACHT THHTI FERET AT
(1) A uhell AT

One of the arcas of weakness of Indian science in the past has been the

(1) Lack of effective technology transfer mechanism

(2) Effective technology transfer mechanism

(3) TLack of mechanism of transfer of imported mechanism
(4) None of these

46. STTREREUTE T FHEETER ) THwrs ufom w8 H
(1) s, g, . = ge gl s
(2) IrAHTATE AR T o &l e
(3) TR S¥IETATd IO 7Y
(4) e g4
(lobalization has fow deterimental effects on agricultural sector of India du . to
{1} Toimport grains, sugar etc.
(2) Government never pavs more to larmers
(3} Subsidies are declining

{4y All of these

47, SreATSAT TR ITARETE AT USRS HI0TaT FHR HI R el ?

(1) H@EREA - 125 (2) wlam - 153

(3) =fufem - 177 (4) Ofem - 137

Which radiation source ig produced by Bhabha atomic research centre tor
treatment of cancer of eye ?

(1) Todine - 125 (2) Samarium - 153

(3} Luthinium - 177 (4) Cesium - 137

48, Wmmmémgﬁesmwm?
(1) TR (2) frega

(3) FETE (1) oA
The modern science of genetics originated by the discoveries of which seteontist ?
(1) Margulis (2) Mitchell

(3) Mesclson (4) Mendel

HEodl RTHTATAT AT/ SPACE FOR ROUGH WORK
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49. IAF JAFaIFH TSR T .
(1) 3321 (2) ] (3) (1) 914
Modern hiotechnology operatesat ~ level.
(1) Sub-atomic (2) Atomic 3) Mo]eul](n (4) Matter
50. THZ AA AT W) HERAT WO IR YRS Ae 22 fedsw, 2005 9l 0.
(1) =7 ufFah (2) A = P
(3) (4) TR
Insat-4A of ISRO communication satellite was launched in December 22, 2005
from
(1) New Mexico (2) Kourou French Guyana
(3) NASA (1) Bangalore
T e vw——e—rm——

51. ERAH T3 FIEN AT ST AR 7
(1) 31 3eg=r Zorr=an of - Teramomrean <l
(2) qhon SIAfG=TEaT Hig
(3) TOERF @d 9 fFeEanTs
(1) =0 w4
The success of green revolution depends on the availability of
(1) High yiclding varicty of seeds
(2} Adecquate irrigation facilities
(3) Chemical fertilisers and pesticides
{1y All of above

W‘g’ﬂﬂfﬂt—ﬂ[

(1) dd (2) T

(3) FEar YR (4) FTIH vl T

The major breakthrough in the history of metallurgy was India’s discovery of
(1) Copper (2) Gold

(3) Zinc distillation (4) None of these

53. SR Y RS I=d UM T w10 gE et 7
(1) ®-E=
(2) #1.3.9m.3. (3feam Fwhrom e faai=a dm)
(3) ®.omdwE. (FEHd THETE §3)
(4) LA, (FHOTA 2 FRAHYE Saicrsi)
Who establish a Terascale Super Computing Facility (TSCF) at Bangalore ?
(1) C-DAC
(2) CERT (Indian Computer - Emergency Responsce Team)
3y CICS {Community Information Centres)
(4) ICT {(Information and Communication Technologies)

Heed] HIRTHTE! AT /SPACE FOR ROUGH WORK
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(1) @asd (2) AT
(3) wreEd (1) T T

Use of large amount of fertilizers of phosphates and nitrates in modern agriou rure.

when dissolve in drinking water cause which disease ?

(1) Methacmoglobinaemia {2) Dysphasia
(3) Diphthena (4) Gonorrhoca

(1) T (2) "iofl T fagaaead foza

(3) WHWEEEH (1) 3 T

The most important therapy for cholera s

(1) Penicillin {2) Water and electrolyte replacemen:

(3) Streptomycein (4) Anti-toxin

£6. WICHCTIER S Tl T el Hee HAm 3T ?
(1) Tomes i} swesT e (2) SIS uraT fu=es Andt
(3) bt o e stve (1) FIEE TR
What is the increasing order of the wavelengths of the following colours ?
(1) Yellow orange violet indigo  (2) Violet indigo yellow orange

(3} Orange indigo vellow violet  (4) Nope of above

57. AmfifE argrel Sivid HeE a1
(1) 85% fsm, 10% 339 3nfl 5% 3R 99
(2) 85% 2, 10% TR it 5% gat a1
(3) 50% Taem, 50% w9
() 50% <R, 50% 22
What iz the content of natural gas ?
(1) 85% methane, 10% ethane and 5% other gases
2y 83% cthanc. 10% methane and 5% other gases
(3) 0% methance, 50% propane

(1) HbO% methane, 50% cthane

ool HINTATE! WATT/SPACE FOR ROUGH WORK
DT

e StudentBounty.com



http://www.studentbounty.com/
http://studentbounty.com/

SPT

58

16

fegien wftre i) wiv (Tm) & arqemeEmter steeE ot ST Fme)
(1) SEfa S o fo o (2) FHfia S sTefirm s e
(3) wHfia = TR e e (1) =il o AT

Delhi's famous iron pillar is considered as metallurgical marvel and shows
(1) Maximum sign of rust (2) Minimum sign of aluminium
(3) Minimal sign of rust {4) Nonc of these

59.

(1) TTOSNFE Tehsie T (2) EEENTE favse
(3) M TS (1) SERE fasmee

Production of hydrogen bomb depends upon which principle ?
(1) Fusion of hydrogen (2) Tission of hydrogen
(3) Fusion of ncutron (1) TFission of nucleus

60.

GTAteAtehl 101, GUTEN TeTTHS] ST TR 37 7

(1) 7 (2) guwag (3) Famoy (4) Tre
Which one of the following is responsible for converting milk into curd ?
(1) Fungi (2) Bacteria (3) Virus (1) Ycast

61.

(1) e 72 (2) AR T

(3) FUdEa T (4) f¥Em TR

The following groups ; which contribute the least in India's forcign trade ?
(1) American Group (2) African Group

(3) European Group (4) Asian Group

62.

1966 Tl ¥UaT HATH FIHIT S0 o ?

(1) Iame wHmo ) o)

(2) Trrieia ame

(3) BRI TFFA FI0

() = e

What are the causes of the rupee’s devaluation in 1966 2
(1) Toreduce the volume of import

(2) Increase in export

(3) To create favourable balance of payment
(4) All of the above

Hood] FIUMETS! ANTT/SPACE FOR ROUGH WORK
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64.

17

12 v, 1985 TSt @reliel et Hiofl TR Harm SR e & ¢
(1) favame wam & (2) Ay FEad

(3) TG TeEm (4) IS 9GN

Who declared imports-exports policy in the 12 April, 1985 our of the follc wing ?
(1) Vishwanath Pratap Singh (2) Madhu Dandwate
(3y Shankarrao Chavan {4) Sharad Pawar

65.

(1) ge% (2) SRIAHT (3) gursHt (1) =T TR

In which harbour highest cotton exports ?

(1) Mumbai (2) Kolkata (3) Panjt (1) None of these
(1) TR arfior &+ (2) T nemad! weRn 56

(3) v (4) g-Torma 5%

Which bank supplies long term loan to farmers ?

(1) Regional Rural Bank (2) District Central Co-operative Bark
(3) Urban Bank (4) Land Development Bank

66.

67.

areliel AT SR SRR AT FRETE TRam e greaT T S

(1) 19561 (2) 1967 (3) 1980 (1) 1982

Social control on Commercial Banks was introduced in India from the HIl wing
year

(1) 1951 (2y 1967 {3) 1980 (4) 1982

e T FET W € Uk T §

68.

(1) Tegad] oo (2) =R &h

(3) forat == (4) T %

The Maharashtra State Co-op. Bank is one of the following banks
(13 Central Bank (2) Commercial Bank
(3} Apex Bank (4) Urban Bank

e Hien dFr Tt Fe 3t 7

(1) 199 1969 (2) 15 d 1980

(3) 1 9Ha 1953 (4) 10 WH 1952
When Fourteen big banks arc nationalised ?

(1} 19 July 1969 (2) 15 June 1980

(3) 1dJan. 1953 (4) 10 Mar. 1952

woeg] HETHTE! IFTT/SPACE FOR ROUGH WORK
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9. e T et ST HIvTd WE @ A 7
(1) Te= d% a1/ =fgan (RBI)
(2) 3sfEcuss gegeraue o+ &% 3fgan (IDBI)
(3) TEE (NABARD)
(1) ufEm F% (EXIM)
Which is the main bank supplics finance to the industrial gector ?
{1y Reserve Bank of India (RI3])
(2y Industrial Development Bank of India (IDBI)
(3) NABARD
(1) EXIM Bank

70, TS TUTT sheal Hied! 7

(1) 1982 (2) 1980 (3) 1985 (1) 1986
When was NABARD established ?
(1) 1982 (2) 1980 (3 1985 (4) 1986

71. U@ vdia FrfR gumer s e yaieeRn SHITER sh 9o gidl 7

(1) = (2) e
(3) FEE 98 T e (4) TAT=ATT FTETE] Y TR

What effects does the credit money have if the proportion of cash reserve ratio s
decreased ?
(I} Decreases (2) Increases

(3} Remains unchanged {4) There is not any co-relation

72. TR RIVIAT s 3T, E A 3T, ned faefieR svaTd STTet
(1) W& T99e & (2) T 5%
(3) I HF (4) FAELE FRA 5F T,
Which of the banks has recently been merged into L1).13.1.?
(1) Punjab National Bank (2) Sangli Bank
(3} Union Bank 4y United Western Bank Ltd.

73. B O oo AR @l aad fofza s
(1) F3-T~9 a9 (2) e eraneier gumen
(3) FifarerE gawon (4) T grneliet gerom

Dr. Raja Chelliah Commission is concerned with the following

‘:

(1) Central-State relationship  (2) Developments in banking sector

(3) Tmprovements in taxation {(4) Tmprovements in insurance scctor

FHoeg] RIMTATST STRTT/SPACE FOR ROUGH WORK

e StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

74, TERTSE WIHTH A= A

(1) 31, @HERE
(3) Sl et

The Maharashtra Government appointed a committee to suggest to prevent
farmers suicide under the chairmanship of the following
(1) Dr. Swaminathan (2) Dr. Narendra Jadhao
(3) Dr.Bhatkar (4) Dr. Mashclkar

75. ST GEATET SATAIG HFTY 10| T HIG Fedl ?

(1) WEWTS (2) &

(3) TTTEH (4) FYIRT

Which state in our country putforth sccond time zero budget ?

(1) Maharashtra (2) Keral

{3} Rajasthan (4) Andhra-Pradesh
76. % HErer@nITeTH! fgEd shell S,

(1) 9a9ym™ (2) THEHT

(3) e (4) Tl

Who appoints the Public Audit General ?

(1) Prime Minister (2) Parliament

(3) Finance Minister (4) The President

77. @?ﬁﬁaﬁaﬁw#m'ma%{_ﬁ?

(1) el = (2) TS W

(3) Tashl a2 (4) FhTd

Which of the following is a direct tax ?

{1) Income tax (2) Entertainment tax
(3) Sales tax (4) Octro1tax

78. Tt T ST AR afera ) R s g foeh s 7
(1) 365 (2) 180 (3) 120 {4) 100
For how many days does National Employment Guarantee Scheme give th-
guarantee of work ?

(1) 365 (2) 180 (3) 120 (1) 100

el HINTHTS! SATT/SPACE FOR ROUGH WORK
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79. 9Raret Fa¢fl geEtiies aier @reltd aufl g g
(1) 1965 (2) 1966 (3) 1969 (1) 1971

India's fourth five year plan was started in the following year
(1) 1965 (2) 1966 (3) 1969 (1) 1971

(1) = (2) =EE (3) TR (1) srE
Which five vear plan in India at present in existence ?
(1) Ninth {2) Tenth (3) Eleventh (4) Twelfth

81. e TeETE Aed g Foen W e S v S 2 7

(1) ZTSUES (2) T 9 Farg=a
(3) aTE (@) o
Which sector of the following had given priority in first five year plan ?
(1) Communication (2} Agriculture and irrigation
(3) Transport (4y Electricity
82, FA TEET AR FETR T B 7

(1) TWISRE =g 9 GaFdEe s ame

(2) 31, TSR 0 Ieqesha

(3) ez fferm

(4) T AT

What was the focus of Ninth Five Year Plan ?
(1} Growthwith social justice and cquality
(2) Food, employment and productivity

(3) Eradication of poverty

(1) None of these

83. WRAN FO=1 THaINF TS-a FINSAT Iod IFAUHH hefl 7
(1) el (2) sfrenfer
(3) @ fofem (4 TRl
Which thing given top priority in the sccond five year plan in India ?
(1) Farming (2) Industrialization

(3) Eradication of poverty (4y Sclfrepletion

THoed] HINTHTS! ATT/SPACE FOR ROUGH WORK
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84, Wl wTAEHIIET JETEt ISR A1 & Siel]

(1) uhirer 1998 (2) T 1990

(3) WRER 1989 (1) A 2002

The Jawahar Rozgar Yojana (JRY) started from the following duration
(1) April 1998 (2) March 1990

(3) February 1989 (4) March 2002

85. WWW@WWWWE&W% ?

(1) g (2) TR (3) #8 (4) g
Which following product will be least affected by the rise in prices ?
(1} Rice (2) Sugar (3) Salt (4) Wheat

86. AN TFada@icl JaEer e WTelicidd! Il Hesh ATV Hesh ATal ¢
(1) IcF-dled J1e
(2) ERT @
(3) SRR AFREE a5
(4) AT HEA
Which of the following factor 1s not a demand-pull factor responsible for rise nprices
in India ?
(1) Growth mincome
(2) Government expenditure
(3) Uncontrolled growth of population

(4 Fluctuation in output

87. W WIEATE 9 AR T Jaea A AWt 1974 HE Y IRET HISHF A frsome
TS B

(1) 410 (2) 331 (3) 250 (1) 258

Duc to worldwide inflation and deflation of Indian rupee wholesale price index of
all commoditics in Scpt. 1974 was the following
(1) 410 (2) 331 (3) 250 (4) 258

88. Ul 1979 " SHATA H1SF fhEa e TRt e 7

(1) 310 (2) 250 (3) 185 (4) 180
What was the wholesale price Index of India in February 1979 ?
(1) 310 (2) 250 (3) 185 {1y 180

ool HITATET AR/SPACE FOR ROUGH WORK
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89. Yleear UaaTtiess Jieta fhadiemaa=n ferd arfemm e

(1) ®R FJHe (2) HHETIT=

(3) TEH (4) 152

Following was the situation of prices during the first five year plan
(1) very favourable (2) normal

(3) favourable (4) bad

90, =HAT 1980 WE AR Hiae fEa BT fedl 2w ¢

(1) 224 (2) 118 3y 310 (1) 260
What was the wholesale price index in India in January 1980 7
(1) 224 (2) 118 (3) 310 {(4) 260
91, B ST Geriid | e Afiee frers s oTer TR,
(1) . 86032 (2) . UY. 88121
(3) 1. TH. D265 (1) 1. TH. 7125
__isaimproved variety of sugarcane crop recommended for sahine soils.
(1) Co. 86032 (2) Co. M. 88121
(3) Co. M. 0265 (4) Co. M. 7125

92. IATASA WreNereh Hvie dieb TgdETen Faid T 8 8 7
(1) 7 et o g
(2) SR a1aTE I Tged
(3) wHIgE HAmuTia i Tg
(4) WIS ITeTRE 9 T5d!

Tn India, largest area is observed under which of the following cropping system ?
(1) Rice based cropping system

(2) Sorghum based cropping system

(3) Cotton based cropping system

(4) Bajra based cropping system

93. ‘=W’ wEFEy TrerTefl wer TR,
() ™™ (2) &
(3) 4 (4 W™
‘Char Sutri’, programme 1s associated with _
(1) Wheat (2) Groundnut
(3) Sugarcanc {4) Race

HEAT RIHTHTS! WHTT/SPACE FOR ROUGH WORK
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94, WETTEIAT T T SeTeshar Heiieh ST,

(1) 9f=m merry (2) faasd
(3) "RETE] (4) =HT
Productivity of rice is the highest in _region of Maharashtro.
(1) Western Maharashtra (2y Vidarbha
(3) Marathwada (1) Konkan
95. frum #di F1E A ET TERd H T HOITA AT,
(1y 1991 (2) 1995 (3) 2000 (1) 1999
The Kigan Credit Card scheme was launched in Maharashtraintheyear _
(1) 1991 (2) 1995 (3) 2000 (4) 1999

96, Fz IEAT 2005 7 2009 T Fremad demmed st e e fmfo wmamn 5 s ars
e el ¢
(1) Heehrdl Toft IR FrSA
(2) FOT GR AT
(3) e o Arsm
(1) ST-T=g Trft FEE AT
Which scheme was initiated by the central govt. during 2005-09 to create a-dditional
irrigation potential in the country ?
(1) Co-operative water use scheme
(2) Krishna khore scheme
(3) Bharat nirman scheme

(4) Inter state water control scheme

97. HRIURTG Tt S faEid freeam ameq.
(1) TEHETH 2y Tl
(3 97 (4) W
The highest number of wells in Maharashtra 1sn distric:.
() Ahmednagar (2) Nasik
(3) Punc (4) Solapur
98. TATHH HTEAT TO0 201 3TIF S, TS THATHF Tt ge H BN v
(1) 50 2y 7h (3) 2b (B 10
Applying irrigation through raingun is uscful for sugarcanc crop. heeavse st th s
there isasavingof % water as compaired to conventional naihad

(1 50 (2) 75 (3) 25 (1) 10

FHoed] HTHHRT AFT/SPACE FOR ROUGH WORK
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99. faaarh 1= Tgm TR A AT,

1 ™ (2) e (3) qr () o,
Basin method of irrigation is suitable for crop.
(1) Wheat (2) Sunflower (3} Groundnut (1) Lemon

100. Fo1e SIS SO <818 TRAUATH 3Teld TRUTRTE 3R .
(1) 93 (2) TefeeH (3) T (4 w2

mulch s most effective in controlling evaporation losses.

(1} Dust (2) Plastic (3) Straw (1) Stubbler

101, TERTE AT e fEmETer a9 = T A R,
(1) 1.68 (2) 2.50 3) 3.0 (4) 2.0
Area under drip irrigation in Maharashtra is about ~_ lakh ha.
(1) 1.68 (2) 2.50 (3) 3.0 (4 2.0

102, fouss o= Tga Frismiten anavamEtd famy storar am sfaem mewrn o ?
(1) foweer (mevf) (2) i

(3) 3t (4) WEHIEE

Which is the most important part of drip irvigation system for its efficient working ?

() Filter (2) Lateral
(3) Emitter (4) Micro-tube
103. iidme) T FTerE (¥ difere) B ATE 3T, o
(1) 26 (2) 36 (3) 46 (1) 56
Heat period in sheep is of hours.
(1) 26 (2) 36 (3) 46 (1) 56
104. gur fdna @msdia T KA 511,
(1) ufaA (2) TTEt (3) = (4) SfEmaE
Milk price 1s decided by its content.
(1) Protein (2) Sugar 3y Fat (4) Vitamin
105. Tevien S 3ad meTEie .
() R (2) TROEE (3) =l (4 TeTgd
buffalo breed 1s originated from Maharashtra.
(1) Kolhapurit (2) Jafrabadi (3) Dangi (1) Pandharpur

oA HINTHST AMT/SPACE FOR ROUGH WORK
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106, HERT=L T1a o U =T Seqmed Sl e

(1) 3w (2) s
(3) Brfore () wa
[n Maharashtra, . __ stands second after Banana ir toems 8
production of horticultural (fruits) Crops.
(1) Mango (2) Sweetorange
(3) Pomegranate (4) Grapes
107. % fpfamama ERRCTICIES
(1) ffufem (2) a0 3ife  (3) 3fafem (4) wEHE 37w
For fruit ripening _ 15 quite useful,
(1) Mecthylene (2) Boricacid (3) Kthylenc {4) Carbonic aci i
108.  3TfSr=h YoTeft T HRrTe RroteeT =l o 7
(1) femm (2) -6 (3) SETE (4) foft fm
Which variety of fig is very famous in Maharashtra ?
(1) Smirana (2) Poona-fig  (3) Basarai {4) Kinni-fig

]09._3\;% REIE IR L L ptir Pt g S———. A, WA
AR,
(1) 7em w2 (2) FHTEAE BeART
(3) a7l (4) TAR

:41_11

On the basis of dry weight. timber of Teak (Tactona grandis) cousidered s neav

while Babul (Acacia nilatica) is

(1) Moderately heavy (2) Extremely light
(3) Very heavy (4) Light
110. TR ITMEE] el HieT PR SR STl
(1) =g (2) |qm 3) R= (4) T
For paper industry, 15 used as a raw material.
(1) Bamboo (2) Teak (3) Tamarind (4) Sandlewood
111, ERTLTEN Hatfien aera T .
(1) 7ad (2) I RS (3) dg (4) AW
Maharashtra carns maximum forest revenue from o .
(1) Grass (2) Frewood  (3) Tendu (4) Bamboo

HEAT HATHIR! AR /SPACE FOR ROUGH WORK
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112, TENTSIE T Heeicied AR fiesd.
(1) Tﬁ@ﬂrwﬁtﬁ (2) BT
(3) Tram=n s (4) g + Tar= T

« T'he highest fish production in Maharashtra ig obtained from

fishing.
(1) Inland (2) Marine
(3) DBrackish water (1) Inland + Brackish water
113. Ty TS HTUTG el T ST Sl
1) © (2) g (3) e (4) el
is the most widely adopted fish type In Inland fisheries.
(1) Rahu (2) Mrigal (3) Tilapia (1) Catla
114. RSl wegn At ) giegaT worn s aen e
(1) 2,000 2) 1,500 (3 22,000 (4) 11,000 T 3T

The total number of mechanised marine fishing hoats in Maharashtra is

(1) 2,000 2) 1,500 (3) 22,000 (4) More than 11,000

115, SrwTArh FoRt 3t G el s T,
(1) gFM (2) =TS (3) STIR (4) ETSR 3 =R
The sale and purchase of Agri. goods is called as \
(1) Shop (2) Market (3) Trade (4) Market and Trade
1186. qum(ﬁwWﬁW—NHM)m%m 'trreﬁg?:
FHITATT T
(1 2001 (2y 2003 (3) 2004 {4y 2005

National Horticulture Mission has been launched in the country from

(1) 2001 (2) 2003 (3) 2004 (4) 2005

117. ik FAd] WS wie=ta e .
(1) 6 (2) 12 (3) 18 (1) 24
Payment of crop loan needs to be done within _ _ months.
() 6 2y 12 (3) 18 (4 241

o1 SRTHTATS AWT/SPACE FOR ROUGH WORK
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118. =@ s _ Tusrr=n 3enea @ e,
(1) T (2) wTsfiren (3) %3 () FAT-u1g
Green revolution resulted into increased productionof iy

(1) Oilseced (2) Vegetable (3) Fruit (1) Food grain

119, ITHRATEA T FTadi1 R0 S @ gidl d) $a-a1 @i 5 ?
(1) fer (2) wacrar @d
(3) vEgw @ (1) T\ ad
While preparing the cost of cultivation, in which cost the expenditure m seod
material is taken
{1} Fixed cost (2) Variable cost

(3) Total cost {1) Marginal cost

120, @Wﬁmwm&mw AYql 7

(1) Tt a=) (2) Yo WEUE §R
(3) WTEach arm (1) HTH T
Which one of the following is a competitive market ?
(1) Perfect market (2) Primary market
(:3) Capital market (1) Wholesale market
121, wewrg wihvartet g geen (ad) Iht wetya 3.
(1) Temge FfEThed) (2) Il
(3) faga (1) TETH
Maharashtra Engincering Research Institute (MIRI) is related to
(1) Civil Engincering (2) Mechanical
(3) Electrical (4) Chemical

122, e WSTETE] Tese o 7
(1) ¥R <TGl &=
(2) €. U9 9 A5
(3) U™ FA TETA IF TS
(1) Fifiemmme wrgom
Nepal's first Maoist Prime Minister
(1} Sher Bahadur Deuhba
(2) Dr. Ram Baran Yadayv

{3) Pushpa Kamal Dahal alias Prachanda

(1) Girijaprasad Koirala

FHET HIHTHETR! ATTT/SPACE FOR ROUGH WORK
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123, Wl st i s U
M ft B air R e w13 =0 Bra smeimren swsaad Fag el se
(D) F7 ST 5o TSATe S O U HREET Srevl R e A wEee
TRy HAEHE Thefl STd
(D 1 ufie, 2010 4 7, 2015 71 wemafiaE a1 Ree Fon s
(1) Faa (1) TG 3R
2) 1 9% s, ® 114 11 9 R
(3) 11 90eR 3m, ot 19 1] =& =1
(4) ) F0ET STEd

Consider the following :

(T) Former Finance Sceretary Vijay Kelkar has been appointed Chairman of the
13" Finance Commission

(I} The Commission makes recommendations on the norms of distribution of net tax
proceeds between the Union and the States

(1IT) The Recommendations will cover the period from April 1, 2010 to March, 2015,
(1) Only (1) is correct
(2) 1is false, IT and III are correct
(3) 1l iscorrect, I and 111 are false
(4) All three are eorrect

124, 6 1932 769 sl 491 A R R wed ra N Fhefl ?

(1) FHAR 93T I (2) T geash

(3) e e (4) 1. TAERE W@

Who established the Shri Shivaji Education Society at Amaravati in 19327
(1) Karmavir Bhaurao Patil (2) Shivajirao Patwardhan

(3) Baba Amte (4) Dr. Punjabrao Deshmukh

125. faor sl szt wikar wvren g ge a1 7

(1) 1950 (2) 1960 (3) 1980 (4) 1990
n which year the process of nuclearisation of South Asia was started 7
(1) 1950 (2) 1960 (3) 1980 (4) 1990

126, ¥4 2007 =1 W e T R o 7

(1) ot i (2) St et

(3) o 8= (4) T2

Who is the winner of 'Nobel Prize in Literature' for the year 2007 ?
(1) Doris Lessing {2) JimiKarter

(3) Amartya Sen (4) Shobha De

TS HITETS! WOT/SPACE FOR ROUGH WORK
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127, @refle gagamen fan +1.

(D) 9. e S 27 2008 =91 AR 8§ T
(1) 3feaq Tese T |@eh SR T i 2008 =1 IGHYTU] & FHH U qTen.
(1) w2 (1) sa 31

(2) e (1]) e 3R

(3) T (1) 3 (11) IF R

(4) T (1) A (1) TR 3R

Consider the following :

(I) Pt. Bhimsen Joshi received Bharat Ratna in the year 2008.
(I1) Sheckhar Gupta. editor in chief, Indian Express Received Padma Bhushan i - he

vear 2008.

(1) Only (I) is correct

(2) Only (I) 15 correct

{3) Both (1) and (1) arc incorrect

(1) Both {I) and (II) arc correct

128, T TERT Sfer A3 Uk Ao S % el ST, 1 AR A e 7
(1) Tofl fardran (2) ©q dAsH
(3) T ere (4) TR A

The government of India has launched a new scheme for the ‘girl chile’. ‘What 1=
the name of the scheme ?

(1} Ran: Bitia (2) Dhan Laxmi

(3) Raj Laxmi {4) None of these

129, 1 2009 el Fiew TR Ao FaevFh Fenrs 99 o 4 freft s fisen |
(1) 13 2) 14 3) 15 ) 25

How many scats did the Maharashtra Nav Nirman Sena win in the Manarashtra
Vidhan Sabha Elcction - 2009 ?

() 13 (2) 14 (3) 15 (4 26
130. 3T TEEINF Frs-ra e HE.

(1) 2007 - 2012 (2} 2002 - 2007

(3) 1997 - 2002 (4) 1992 - 1997

The duration of the 11t plan is

(1) 2007 - 2012 (2) 2002 - 2007

(3) 1997 - 2002 4) 1992 - 1997
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131, %9 e Saed A S sEmed Faad ool vl e
T 2008 FTel Tl Smel.
(1) sro e (2) FIUTA
(3) foem g (1) T Fga
For advising about rencewal and rejuvenation of higher education system, [.G.C.
had appointed ___ Committec in vear 2008.
(1) Arun Nigvekar (2) Yashpal
(3) Vijay Kolhe (1) Narendra Jadhav
132. TSR = Ao W FEd A A gl e e
(1 31fe@. 2008 (2) 1M, 2006
(3) 137 2009 (1) 319 2007
When was Air Chief Marshal Pradip Vasant Naik appointed ?
(1) 31 Dee. 2008 (2) 15t Jan. 2006
(3) 1% Junc 2009 () 315 March 2007
133. fafem sfeifimed 100 H. 311 200 Hiex sravar=n s e s favd fawn e ?
(1) fira o™ (2) IEHA ez
(3) fpfeemm ARl (4) sAfima o=
Who did the world records for 100 mts. and 200 mts. sprint running of Beijing
Olympies ?
(1) Michel Phalpes (2) Usain Bolt
(3) Christiana Ronaldo (4) Abhinav Bindra
134, ‘2. SoETRE sTeEat T EHET, WERTS SRR 53 T ST e 7
(1) S (2) Had (3) @i (4) TR
Where will the Government of Maharashtra is going to establish the
"Dr. Babasaheb Ambedkar library 7"
(1) Baramati (2) Mumbai {3) Dapoh (4y Nashik
135, "W Uieel T =IRTeE e gE A ¢
(1) 3% FTE (2) YT
(3) STETTE (4) ar@e
Where did the first village court start in Maharashtra ?
(1) Urub Kanchan (2) Dhanora
(3) Asangaon (4) Torkheda
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136, WRAH AT QEd 99 2000 TL3 HIET HUT FHel 7
(1) =R fawgs HI (2) T T FI
(3) ATIF Tehn R (1) T UFEl AT

Which pact did India sign with Arjentina in the vear 2009 7
(1) DBusinecss (Trade) Pact (2y Civil Nuclear Pact.

(3) Economic Co-operation Pact (4) None of the above

137, TR T S S T, FE AR, 2009 WO wers MAREE WE e, 4 b
TTEATATHT IV THH 7 ¢
(1) g@Es - 30 % 3719 2) fm - 29
(3) T 16 (4) SER
The President of India, Smt. Pratibha Patil took a flight in a fighter 1iyeraft in
Nov. 2009. What was the type of aircraft ?
(1) Sukhoi 30 MKI (2) MiG-29
(3 K16 (1) dJaguar

138. 2w % 3 R E UilE YRR A i 7

(1) AR TTe (2) TeHE WaE

(3) = T (1) AT TEHR

Who 1s the author of famous book "The story of two states” ?
(1) Amitdas Gupta (2) Salman Rasdi

{3) Chetan Bhagat (1) Atish Tasecr

139. /. i, /. @ 77 g i 9 fora
(1) SeuTegAtzd 9IS 37 FeaHe O
(2) 3RS fIeT FoRHT FRH
(3) sfema fiuca wrEgm =iiE
(4) 3femm duew wererde wTEER
What is the full form of LP.C.C. 7

(1) Intergovernmental Panel on Climate Change

(2} International Peoples Climate Conference
(3) Indian Peoples Consumer Council

(1) Imdian Peoples Climate Conference

THoedT HINTATST TR /SPACE FOR ROUGH WORK
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140, sichee Freom et A0S SR & Y ® Qe el geiid g,
(1) oia (2) @aF Fd
(3) ifcrsa e g (4) STSET TREH
Norman Borlaug, who recently died was associated with
(1) Greenrevolution (2) White revolution
(3) Polio eradication scheme (1) Space research
141. 2009 =1 3cFS/FH8S TRk Usdig YEEHR i1 qUaTd HTed.
(1) ghaeh e (2) bfay promgd
(3) AT BOTH (4) s T
The National award for best female play back singer (2009) was awarded to
(1) Sunidhi Chauvan (2) Kavita Krishnamurti
(3) Sadhana Sargam (4) Shreya Ghoshal
142. e [ald 39 3R AT 390E HR.
(1) 3w T (2) "dfEn (3) g (1) TR
The tallest building in the world is situated in this country.
(1) USA. (2y Malasia (3) Dubai (4) Singapore
143. favi anfefer s (T7) gea e wow 7
(1) hUfd A &
(2) Aftrepey wgea anféler &
(3) AU |Id qUIA: TR
(4) HESIHE YEE w9E
What is the prime characteristic of SEZ 7
(1) Tax free cconomic zone
(2) Heavily taxed economic zone
(3) Entertainment sources arc totally ahsent
(4) Absence of pubbie scecunity
144, ‘foeo fadms 2009, o wrEd enfor siftaw freoma sifimr S garerde gern v

AT 312 7

(1) 6-14a8  (2) 5~10TW (3) 7-1299 (1) 6-18 =W

According to the ‘Education Bill 2009’, which group of age of children is given the
right to free and compulsory education ?

(1) 6--14years(2) b—10years (3) 7—12years (4} 6— 18 years

ol

FHIATETS AWT/SPACE FOR ROUGH WORK

e StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

A 33
145. 3ERTA Tedi fawiaa Hen deren sy S (Spy) IWE 389 (I

HIFTIG T2 faer 7
() wpefe (2) fam - 2
(3) =EIH - 1 (1) REive

Which spy sattelite. developed in collaharation with [sracl, was put in orlnr
Indian Space Rescarch Organization (ISRO) in April 2009

(1} SPUTNIK (2) RISAT-2

(3) Chandrayan - 1 (1) Arvabhatta

146. WA WA 311 Tet-aee feel g 13 o 7

(1) FRREVE, o (2) =revfiehes, & foeeh
(3) Freft (4) T
Where is the largest meter-wave radio telescope of Tndia situated ¥
(1) Naravanpur, Pune (2) Chandanichauk, New Delhi
{3) Cochi (1) Kolkata

147, FsEREET @ 2008-09 T wfafSd 11 =21 3197 qEr g fewen ?
(1) 9 fimam (2) T =iftEn
(3) ey eh (1) sft. uet. grem
Who received the prestigious 11th Arjuna Award for Kabaddi for the year 2008.0¢
{1) Pankaj Shirsath (2) Mangal Champia
(3) Satish Joshi (1y G.L.Yadav

148, TN GHTH B 2008 TN Fedd AT 3161 ‘Tt [OHR AP T S/ T 1 A
firezten 7

(1) e oo (2) oFfag srfem
(3) TS FIeEl (4) =, wq. TRmE

Which author got the most prestigious 'Booker Award' in 2008 for his novel
"The White Tiger' ?

(1) Arundhati Roy (2) Arvind Adiga
(3) Paulo Colho (4) V.S. Naipol
149, HeTUeg ANFIREGR iy G (34) S R ?
(1) AT (2) qad (3) o (4) ATtvER
Where is the Maharashtra Engineering Rescarch Institute (MERID) situated
(1) Nagpur (2} Mumbai (3) Pune (4y Nasik

150. SIS Wit AOR &g F 1S 9 7

(1) =73 (2) 43 (3) RicTT (4) oy
Where i1s India’s first open sea bridge situated ?
(1) Chennai (2) Mumbai (3) Kolkata (1) Somanath

%ol FINTATS] AW/ SPACE FOR ROUGH WORK
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(1) 16

34

2y 17 (3) 13 4y 30

How many Triangles are there in the following figure 7
/1\
NN
/ \\ .
AN D

/AN N
// | \\ \E\:_

(2) 17 (3) 13

(1) 16 4y 30

152.

el feetea ST A1 faeT | 2 SR fael smea, faaie faar aneer e sraeft a8 'l
Tl o A et ST S 10T /i AR Fe A i@ = 4rg R s
faam (1) 59 Sohesl Tdd TEAT.
(2) hTE vdd 2 T3NS,
ST (1) SHIE TOR TR e
(I1) & yad & Tai 378
(1) w3 STEH (1) T 32
(2) waa AN (IT) /e e
3y FEA (1) & (1) e T 1A
(4) FFAE (1) & (1D SFe ST@ed e
Two statements are given below which are contradictory to reality. Assuming the
statements Lo be true, decide which conclusion/conclusions will be frue scelecting
proper option.
Statements (1) Al TTills are mountains
(2) Al mountains are plateaus
Conclusions (I) Some plateaus are Hills
(1) All mountains are plateaus
(1) Only conclusion (I) 18 correct
{(2) Only conclusion (1) 1s correct
(3) Both the conclusions (I) & (11} are correct
(1) Both the conclusions (I) & (IT) are mcorrect

oo HETATE ATT/SPACE FOR ROUGH WORK
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153.  Ushl W= §Odmy =01 T 9 9 e 7 wara 72 frgese argay aif)]
Eakini
(1) 18 (2) 36 (3) 72 (1 35
H'you double the number and subtract four timoes of that number ind - de. T
the remainder 1s zero, What is that number ?
(1) 18 2y 30 (3) 72 1y 35

154, U ggiaara1 arensd fHdl Senm sraand ?
(1y 204 {2y 61 (3) 128 (1} 236
How many squares are there in a normal chessbhoard ?
(1 204 (2) G4 (3) 128 () 256

155. @Il HEAmIe U 92 el 37 d YT oI T o e,
e 9, 18, 32, 50, 98, 128
(1) 32 (2) 98 (3) 9 () 18
Find out the number which do not belong to the number serics.
9,18, 32,30, 98,128
(1) 32 (2) 98 (3) 9 (1) 18

156. @IciicTeh] 12 7 TR Y2 i ?
13, 17, 19, 33
(1) 19 (2) 33 @3 17 () 13
Which iz the number, not a member of the group ?
[3.17.19, 33
{1y 19 (2) 33 (3 17 4) 13

157, T HEA IR 750 SR, WG 1 2 ;3 1 IO SR, R S G A Fel an
(1} 25 (2) 30 (3) 40 (4) 15
The ratio of Three digits are 1:2: 3 and their multiple product is 750, W 1a . will b
the sum total of these numbers ?
(N 25 (2) 30 (3) 10 (1) 45

158. U8 7O ITeidTa 1o
(1) = WaFR fEden s (2) TR TR HIRam
(3) d THF SBEE T = (1) d wd/ga T waw

Policeman wears a uniform because
(1) 1tis provided by government (2) Tt scares the criminals
(3} He can be casily recognised  (4) Tt keeps him smart
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159. W] TeTd 7 SEURY JE v ?
100, 125, 27, 1000
(1) 100 (2)y 125 3y 27 (1) 1000
Which number from the following numbers does not belong to the group ?
100, 125, 27, 1000
(1 100 (2) 125 (3) 27 (1) 1000

160. mﬁqﬂaﬂ%ﬁwmmwm?

(1) e, fraet, fewrn (2) Taages, fewan, @t
(3) e, T, T (4) T, fae, one
What is the ascending order of the road signals ?

(1) Red, Yellow, Green (2) Yellow, Green, Red
(3) Red, Whate, Green (4) Green, Yellow, Red

161. W@ﬁmﬁﬁ%ﬁémmmawmmmamm
s ?

n G (2) H {3) 5 4 R

If English alphabets are written in reverse order what will be the seventh letter to
the right of the 12th letter from the left ?

(y G (2) H 3 S (4) R

162, T SRR AT 150 fRfl wft @ aRgE 1750 et e wewn! u FamEr) fher 60 w6
ATTATE € ST st fad 7

(1) 700 m (2) 800 m (8) 750 m (1) 850 m

A train with a speed of 150 km/hr crosses a platform of 1750 m in 60 scc. What is
the length of the train ?

(1) 700 m (2) 800m (3) 750 m (4) 850m

163. T W G 10.00 S GE B AT Gedl 12.52 1 wvell, 7 sraefmed = qiiwe
I, W AT gEaTdien | i swsh th Gt gEn dieimed s e
M, TF arfirer frdt faferh o 7
() 40 (2) 41 (3) 42 1) 39
A school starts at 10.00 am and bell rings for lunch at 12.52 pm. In this duration
four periods are held. Before every period a 4 minute break given for going from
one room to another. What is the exact duration of each period ?
{1) 40 (2) 41 (3) 42 (1) 39
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164. =R 9N Grdi= AR 102 O, 136 T, 153 T 3 221 @ 1A
FTIR 3R, o8 STdia S Tt gae sproan Idfiet ?
(1) 24 (2) 43 (3) 480 (4) 36

cut into parts of equal length. What is the maximum number of pieces that car b
cut ?

(1) 24 (2) 43 (3) 480 (1) 36

165, Tewmen srfl ar s1mneT v

60 | 69 | 80 i

16| 2 | 32 I

44 |1 12| 48 I
(1) b7 (2) 14 (3) 78 (4) 96
Fill the correct number in the blank box.

60 | 69 | 80

16 7 | 32

44 | 12 | 48
(1) 57 (2)y 14 (3) 78 (4) 96

166. 17 100 a7 3ThSAed 78 foret aT1ehe 3R o) ST 5 = 90T el o 41 TSI U ATF 31 5
e ¢
(1 12 (2) 11 (3) 20 4 10

How many numbers from 1 to 100 are such, each is divisible by 5 and whos w
least one digit 18 5 7

(1) 12 2y 11 (3) 20 (4) 10

167. mmmmgwmmmmmmmmm@m ?

(1) 4 (2) 5

(3) 3 (4) TR} A

How many Tuesdays in a month, if the month ends on Wednesday ?
(1) 4 2) 5

(3) 3 (4) None of these

Hood hIATETST AT/ SPACE FOR ROUGH WORK
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168, vl "z 10 aRR@ Gma TRE 91 fRaarie fEeh 29 sfd |
SR foag 3Te ¢
(1) THan (2) eam
(3) WIfER (1) P
If 10'h of the month fall 4 days after Monday, what day will be on 25t of that
month 7
(1) Monday (2) Sunday
(3) Saturday (4 TFriday

169. TR 31 URETET gL 1€ 2fa0mene 8d. 9 /T IS/ &1d el e 316 7
(1) 3@ 2) ™ (3) ey (1) =feq
While standing on his head Suresh's face 1s towards South. In which dircetion wall
his right hand points ?
{I) North (2) East (3 West {1y South

170, T 9Tt TR 90 Fenefl s1ed. 809 e stfon afteren swct 3 emieht 2/ 3 faanedf 3ol smat. @
wgpt fereft Tarameff sifom oftaren 3=fivl zme 7
(1) 48 (Zy 16 (3) 24 (1) 22
A class 1s having 90 students. Out of which 80% of students appeared for the final
exam. and only 2/3 students can pass the final exam. How many students actually
pass the exam 7
(1) 48 (2) 46 (3) 24 (4) 22

171, wifza, aqrfeea, Sanism omior ated O guad = 22 99 a1, ams s OvHH 99 Prefaa o sad
1 20 99 Bd. T 99 fodt ?
(1) 14 @) 13 (3) 12 (4) 11
Mohit, Adityva, Devashish and Adwait are having average age of 22 years. If
Roshan's age is added then the average age becomes 20 years. What 1s the age of
Roshan ?
(1) 14 ) 13 3 12 4 11

172, U & ;

12x6+Tx8+14x5+9-3=

(1) 33 (2) 34 (3) 35 (1) 36
Calculate :

12Xx6+Tx8+11x5+9 -3 =

(1 33 (2) 34 (3) 35 4) 36

H=AT HIATATS! AT/ SPACE FOR ROUGH WORK
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173, YR TeTfer faema wi siesa,

[

Ty
AN 0 b
3 2 ™ L 3 \\‘\\ -
LL: — l ‘1:::';3"',_1 o
(31) (&) ()
(1y # (2) (3)
Find the odd man out.
Bt =N
| ‘ | 6 4Vl
(b) (c)
(D a 2y b (3) ¢ 1) d

174, 30l 3.00 SISO WA 10,00 anmdd aw $ie 9 i w2 Fewmame e a0 e
{1y 7 2y 10 (3) 14 4y 13

How many times are howr hand and a minute hand of a clock at rmight angles dur 1y
their motion from 3.00 p.m. to 10.00 p.m.

(1y 7 (2) 10 (3) 14 (1 13

175. usfl avmmeeier ma=n fadmdie (Capital) fFdl sra smeendia wfdfsamed amem i
(1 9 () 10 3y 11 (4) 12
How many letters of the [inglish alphabet (Capital) appear same when looked
in the mirror ?

(1) 9 2y 10 3) 11 4 12

176. 200 400 1 2vear 339 fordi aere e i sraed 3 () 41 ST ATy A tR ) R

ST ¢

{1y 99 (2) 100 (3) 110 (1) 120

How many numbers lic between 200 and 400 in which 3 comes only on time
(1} 99 (2y 100 (3) 110 Ay 120

177, Adw] qEA Hordt ?
1101, 1106, 1111, 7
(1y 11111 (2) 1115 (3y 1116 (4) 11116
Find out the next number
1107, 1106, 1111, 7
(1 11111 {2y 1115 {3) 1116 (1) 11116

HoedT hIHTATI! ITT/SPACE FOR ROUGH WORK
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178. U =sqfd 9 km 3Wehe Ta™ !, Fa% 12 km TS @l TR 12 km 9eamme o
af&rteRs ST, a1 A1 geardieal e fhdt 75 (km) g2 318 7
(1} 6km (2) 12km
(3) 24km (1) 48 km
A person travels 9 km North, then 12 km East. After that 12 km West and then 15
km South. How far he 1s from the starting point ?
(1 6km (2) 12km
(3) 24 km (4) 48 km

179, feneaten v TG AR glaﬁaﬁq el 3T el € Isetengd dudl 3R, il smawTa STl
HeATTEH HeuTen avht Sefishgd Waua! Eefl. at e uol faaredi fenedt 7
(1y 28 (2) 29 (3 30 (1) 31
In a student row, Shravani is Thirteenth from the left and Shruti is Thirteenth
from the right. If they interchange their places Shravani is cighteenth from the
left. How many students are there in a row ?

(1) 28 (2) 29 (3) 30 (1) 31

180. a) el FHHIART yaafer Im2a
b) Tl vgeia WaTg 3TEd
araed @ ferd fyaar ¢

(1) HE TR WBIg 3Ted
(2) IS WeaTg Teeie A
(3) e Warrg veHiuT 3TEd

(4) FTEN Tefer T STRA

a) Some emplovees are graduates

b) Somec graduates are players

What can be concluded from this ?
(1) Some employees are players
(2) Some players are graduates
(3) All players are graduates

(4) Some graduates are employces

FHoed] HTHTAET ANT/SPACE FOR ROUGH WORK
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181,

a1
T T SR YAe 18 Rl maskerer A dom seees 3 3
IR 6 oAl o @ B, Sud e usm 6 Rl ot s
(R ) Topeft stquian smms 7
{1 9 (2) 18 (3) 21 (4) 15
Satish went 18 km. toward cast by cyele from his house. then he turn richt and
went 3 km., again he turn right and went 6 km. lastly he tuwrn left and went 6 ko

now how much distance far from his house ?

(1) 9 (2) 18 3) 21 (1) 15

182,

srra, frsra o o7 R 19 1o s, T 2 o A SR, Haer deed 0 s e
SR 7l & ST A et s, ) A e g oS, o e s AT

(1) g4 (2) gerft (3) §rg, (4) e

Ajay, Vijay and Sanjay are brothers. Ramnath is father of Vijay. Sitaba: is mother

of Sanjay, Nikhil and Shruti are children of Ajay. Shruti is daughter o Surckha
Then what is the relation of Surekha with Sitabaj ?

(1) Daughter-in-law (2} Daughter

(3) Mother-in-law (4) Mother

183.

e — @1 - @@ g e
AT - T E FA AR
A -~ H quwmﬁaﬂ%
T — T YRR FA AT
(1) waa ‘o s frem
(2) wdd ‘30 IF@EE e
(3) IR 1 g
(1) 2 T foraama

Statement— A - some dogs are barking

B - Raghuis a dog
Assumption - A — Raghu is a barking dog
B - Raghu is not a barking dog
(1) Only A\
(2) Only'B¥
(3) No any assumption

(1) Both assumption

woedl RIHTHIGT WHT/SPACE FOR ROUGH WORK
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184. e FiS Teesl, Ml F1 TR, HiEAT o Tedt, Ade e wed,
mmee, TeteTTel et TEes, TRl Side) A oY, TN 1 vl ¢
(1) feran
(2) T
(3) foeest
(4) I3

If water is called ‘Blue’, Blue is called ‘Black’, Black is called ‘Red’, Red is catled
Vellow’, Yellow is called ‘Green’, Green is called "‘White” and white is called Viclet,
then what is colour of milk ?

(1) Green

{2) White

(3) Yellow

(4) Violet

185. TG A SOURT TR HAT@l.

/ | | \_7? BIPENR

3 ! S !
(1 A (2) o
(3) 4 s

Find cut the odd figure from the following figures.

/>. \ I

A B C D

(1) A 2 B
3) C @ D

Hosd] HIHTHTS! AT /SPACE FOR ROUGH WORK
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Yeiel AT AR st wusiy vediu frenefl smea. sdwria o sl ef Fae G s
Hred | fenmndier 3wk yifaa frell snga. ot o w3 sifiaifefl g e
IR RTesia wom fanedt 7

(1 1 {2y 2 (3) 3 4y 4

Digits in the rectangle are of students who completed their MBA degrec . Ihgtsin
circle ave the students who have done engineering course and digits in the 1v1a ngle
are computer trained students. Then how many students having MBA degrce,
done engineering and are computer instructors ?

(1) 1 (2) 2 3 3 (4) 1

187. g}aﬁw . faredt « 7
(1) ==
(2) 33
(3) =feaq
(1) IWTe
Holi : Falgun : : Diwali ; ?
(1) Chaitra
(2) Jesth
(3) Ashvin
{1} Anshadh

T FHINTATS! AT /SPACE FOR ROUGH WORK
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U Wikl f@fug adw = <3 [ H

188.
A= (O /\®ar asfas falid mad = ?
m 90O @ OA[]
@ O ¢F L] W [ H O
In a code language,
VATAN={} []
TAGAR=[ 1O FAN Then,
GAVAT=?
m O @ OA ]
@ O] @ [J$H O
189. w123
4|5 |8
71819
R®OLC M & g Fo ?
(1) 54989 (2) 56891 (3) 56789 (4) 56798
it |
4
7
Then what. is the number related to the figuve OC 1070 2
(1) 54989 (2) 56891 (3) HBT8Y (1) 56798
190. el GiekTdes sTE 1318118119820181 709 MAHARASHTRA 399

31513139101901514 =0 =14 ?

(1) COMMITMENT (2y COMMISSION
(3)y COMMITTEE (1) COMMENTRY

In a code langnage 1318118119820181 is MAHARASHTRA then what will
31513139191391514 means

(1) COMMITMENT (2) COMMISSION
(3) COMMITTEE (1) COMMENTRY

oo HIHTATE! AT /SPACE FOR ROUGH WORK
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191. usHl €loeREd SAAIaH] MererR HTe] Gefl sreean siea. S & sifya 3
HATE. A1 F At o siftea areamed wwelt s, stfEr it awen 9

U] W wye) A 7
(1) =i 3o gemn (2) rar smfor aiferan
(3) safar aqrfor g (1) e snfor g

In a hotel around the table some girls are sitting in a circular manner. Neeta 1<
sitting between Anita and Sunita. Sujata is sitting hetween Sarita ard Ankira.
Anita is besides Sarita. Then between whom is Sunita sitting ?

(1) Sarita and Sujata (2) Neeta and Ankita
(3) Amta and Sujata (4) Necta and Sarita

192. 3 WM, 2004 7 T30 S divan 38« ®, 3 96, 2011 31 fawi e an @ ?

(1) Giman (2) §9aR (3) WIBAR (1) TR
Tf 3*¢ March, 2004 is ‘Monday’, then which day will be on 3" March 2011 -
(1} Monday {2) Wednesday (3) Tuesday (1) Thursday

193. 2 feaw T S 7

(1) 86400 (2y 14400 (3) 172800 (4) 17280
Calculate seconds of two days.
{I) 864100 {2) 14400 (3) 172800 (4)y 17280

194, ** famar=n w40 qatg S,

H 1] *]| 16
12{G{*| F
Di{6|R

1 1C121B

j]

(1) F @ 1L @3 |12 @ | !
10 L1 : |

11111 ** by using following option.

I

H114]*{18

121G *|F

B 6 lIf 8

4 fC12|DB

oy |1 @ | L @ |12 @ |
10 Er

[ | 14

ool HINTETS! ST /SPACE FOR ROUGH WORK
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195, Haded] 3ehdid Tehor deni fae 7

1 21 (2) 15 (3) 06 (4) 12

How many guadrilateral are contained in the figure given below :

1 21 @ 15 3) 06 ) 12
196, AT T Then,
3H G| <h g
(1) +H (2) « 3y = 4 =

Find cul odd one

=

(1) A (2) B (3) C 4 D

197. g 10 Tl g1 & reanasd foredt stvn=n H 2y ?

(1) 90° (2) 30° (3) 60° (4) 45°
At 10O’ clock what 1s the angle between two arms ?

(1) 90° (2) 30° (3) 60° (4) 145"

THoedT RIS SUTT/SPACE FOR ROUGH WORK
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198, TMetel 3ok A1G FHH 9T 991 faer.
30, 75. 36, 69, 42, 63,2, 9

(1) 48, 56 (2) 48, 69
(3) 58, 49 (1) 48, 57

Complete the given serics of number by choosing by correct alternative .
30.7H, 36, 69, 42,63, ?, 7

{1) 48, 56 (2) 48, 69

(3) H8K, 49 (4) 48,357

199.  srdia = HE R ¢

(1) 60 2 35 (3) 20 (4) 18
How many squares are there in a given figure ?

(1) 60 (2) 35 (3) 20 (4 18

200. T 29 SEREEEYIE FoaTe AT e gE e 1 o e slwE.
BDFH :JLNP::RTVX:?
(1) ZABC (2) YZAB
(3) XVzA (4) ZBDF

Considering the relationship between first two words, find the missing word for
the second pair.

BDFH : JLNP:: RTVX:.?
(1) ZABC (2) YZAB
(3) XYZA (4) ZBDF
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SPT 48

ol - (1 T Ye.....)

INEATE YTEAT S shetenn * afistimed grom=n Ayrrlr wiaay womaEa sfufam-82]
ITelleT RGN FHRETS HvaTd I3 o S| =] HHe U a9 wg] shirarna] 7ot/ feher &9
TF BN EHT SSr=T A a1 e,

(9) " TeatearEl s fafsa et 9 FueaHat ShEaten § uvRgiead w@d: s
THaTRATATE 834 S0ETH WET SR, W adiel SRATERY ATvgTE] SHEIRT 3o
TR O - 1 GrdeRTRe 7 fErar on o g IR,

THAT UYA
TE %, 201, Gl =er T Foarad wvh gee: e o ¢
(1) @) gare g (2) SR frmamm
(3) TS AHAIER T (4) TTSH THEe

T AR AT I () U1 UHETEA T 38 3R, e A1 w3t () B, ared
WA . %. 201 F90d Iw-was @) ® adw qofou IrifEd w5 srafan

w201, O @ @ @

I T W Fegfiaehdier Sedieh AT QAT I B qReTe aaRien Riacen
IR w1 o WAFHISHERIA Tefid aqe quige Srifed F%a sraandr. g
ek ShTeodT WTee! aierds aTurd, ufaet & v U amas 39,
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